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g Q.1  Fill in the blanks :- g
& ) I 20p coins make 1 rupee &
g b) 50p coins make 5 rupees g
g C) 25p coins make 2 rupees g
? d) RS10+RS5+RS50=RS cooovrrrrrrrrren. ?
< &
& €) RSS5+25p=RS ..cccccceiiiiininnnns &)
g L) T T TR PTOTRORRo 10 rupee notes make Rs 100 g
g 0) e 500 rupee notes make Rs 1000 g
() Q.2  Convert the following into paise :- &
S _ S
® a) lrupee = ..o, paise ®
& b _ - S
) T TUPEES = ..o paise
& Q
& C) Rs3.45 = .. ..o, paise &
© &
& d RsS950= ..o paise &
O Q.3  Convert the following into rupees :- S
& S
& a) 625paise = RS .......coeeeiiiinnn &
& S
&) b) 700 paise = RS ......ccccvvvrrinnnn. &
S 26 baise = R S
) C) paise = Re .........cceviiein, )
g d) 8l0paise =RS .....cccocvrvvrrrnnnnn g
& Q.4 Add the following :- &
© &
&) a) Rs 25.20 and Rs 9.78 b) Rs 56.86 and Rs 38.52 &)
© &
& S
© &
& S
© &
& S
© &
& S
& Q
& Q
& &
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& _ &
@ Q.5 Subtract the following :- @
& &
@ a) Rs 36.12 and Rs 48.89 b) Rs 36.86 and Rs 49.78 @
& &
& &
& S
& &
& &
S Q
& &
@ Q.6 Multiply the following : @
S . . S
@ a) 23 rupees and 15 paise by 7 b) 75 paise by 8 @
& &
@ .................................................................................................. @
& S
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& _ _ _ &
& Using the above prices solve the following sum :- ®
& _ N &
& Find the total cost of the following articles : &
g a. Adolland a pen g
(5 2O &
& Q
) &
& Q
@ ................................................................................................................. @
g b. A water bottle, a ball and a clip . g
() OO &)
& &
(F) e )
S Q
Q) s ?
? c.  Acricket bat and @ hOCKEY oo, g
Z

(%) &
& &
@ ................................................................................................................. @
& &
& &
() d. A book, a water bottle and a pen e &
: :
S &
(F) e )
& &
Q) S
0D e e e era &
g Q.9 The cost of one notebook is Rs. 15.25. What will be the cost of 5 such notebooks? g
& Q
@ ...................................................................................................................................... @
5 L Q
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ACTIVITY

Prepare a list for your Christmas shopping.

MY CHRISTMAS WISH LIST

What I want to buy Price

____._--/_—\H L —

Developing Developed
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@ Q.1  Fill in the blan
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@ Q.2 Shade the given fraction :
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Q.3

b)

1
2 b)
1
3
8

% ;

following, write the answers on the blanks :-

In how many equal parts is the

figure divided>

Write the fraction for the shaded

portion.

Write the fraction for the unshaded

portion.

In how many equal parts is the

figure divided?

How many parts are shaded? —  ............

Write the fraction for the unshaded

partion.

In how many equal parts is the

figure divided>

How many parts are unshaded?  .............

Write the fraction for the unshaded

part.

Write the fraction for the shaded

part.
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Q4 a) How many one-third make a whole?

b) How many one-fourths make a whole?

ACTIVITY

What fraction of the figure is shaded?

Match the figure with the correct fraction.

1.

S T S

Developing Developed
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